
Addition de Coeurs Doux (D)
Quelle est la valeur de chaque doux coeur?

52 + ^ = 108 ~ + 90 = 105

66 + _ = 95 ? + 51 = 118

30 + & = 52 = + 60 = 140

53 + $ = 93 . + 37 = 47

81 + % = 104 > + 47 = 108

79 + ) = 110 , + 15 = 114

25 + # = 101 ` + 15 = 82

97 + + = 130 / + 53 = 67

73 + * = 170 - + 17 = 96

93 + ( = 130 < + 74 = 102
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Addition de Coeurs Doux (D) Réponses
Quelle est la valeur de chaque doux coeur?

52 + 56 = 108 15 + 90 = 105

66 + 29 = 95 67 + 51 = 118

30 + 22 = 52 80 + 60 = 140

53 + 40 = 93 10 + 37 = 47

81 + 23 = 104 61 + 47 = 108

79 + 31 = 110 99 + 15 = 114

25 + 76 = 101 67 + 15 = 82

97 + 33 = 130 14 + 53 = 67

73 + 97 = 170 79 + 17 = 96

93 + 37 = 130 28 + 74 = 102
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